MF ABRO 2 L Ok X2 (=] o
(=) xH ) = O|°O| 7|'oﬂ' Mo 1= ta
20184 X R2|Li2t A2 A= MHITHAS 11,715ha, 32,9727t
MMERS 59 445E0|CH JHHS 2 OY| QO etX|, S2Af, AOf,
MZ A 25, 5, &7 0|0 0] 5 Y, =2tX| M52
MAZE 20| 0|8 UCOH, QAL E2A S22 7ts ER 82=
AH|7HE0| O|R XL QUL 0| S A A2 0| AH|AIE STHE A5
SIOFMHZ 9| 0| Tt0| OfL2t CHYst & 70| ER3S|CY.
2 A= AZEEQ L LIUIIE 2ot e, LIEE S 0|8
JtsdS HESID Y A5S MUSH I A} FRIGHALC
O AR My OIBTIE M8 U 42 54
QAT 16~17) A3k A3t 2R} & o)A, AR, fhbs, 9= Al
AE-& B oL T 9] 52 VARIAY Ftfsto] 4o Dot & 84 &
S} Sl AES 4,53, e 23], A9 23]o| W, AR ek FEo] 71 Wkt
ol AUEO] A W AFE RAYA 3 957} AE HpE Mol ekl
o Ao 2 dE T 7R oA B 2k} v|3h Heks ol
URXtEH B LB U M U = ME(16~'17)
o = E¥ OENe  F@ 94 ®5  ME8  4uss  AEsE
0= (cm) (7H) (mm) ) (g/F) (%) (&) (kg/10a)
AdrE 26.2 2.6 8.5 4.8 65 91 4.5 1,061
=2 g 19.4 2.1 141 8.4 100 &1 2 1,445
LU= 393 7.6 9.2 6.9 17 &9 2 1,638
A 12.8 1.4 7.1 3.7 15 66 1 262
A=A 15.0 2.7 6.9 3.9 59 83 1 641



o = =3 CHIES A7 S SES 28184 MNELY
o= (cn) (7H) (mn) (7H) (g/%F) (&) (kg/10a)
AlgrZ 29.6 3.8 11.0 6.6 61 5 1.471
ALUE 32.8 203 13.1 293 123 2.5 2,195
o 19.5 2.8 10.8 6.1 127 2 1,757

A A7 SRS 8, HES0R clolt AT Tonelshn, B Y
12%, 2+ 9%, 5] 9%, WOILFE 79015ick. 8 Ak 414 Ak, 4
G WU S0, G YA ) AWE ) R £02 HEsar
%9 *a}o% SR G0 AE e, EEOR AR, TRV, Goli gL A
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AS F7P7F digntEe] 237t shufet Axh vhf 247 = ol 3~090lH, 7
o= 9~1090] 3t} "16E TufEFe 910kg/10a0]H, 1749 1,052kg/10a2.& 21 H<t
981kgS Tl slieh &4 4,90589/10a, 4 G H|= 4724 9/10a, 252 4,433
2/10a°] it}
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